PLACEMENT TEST

1-What time ……….. your husband start work in the mornings?
A-is	B-do	C-does	    D-are
2-Did you ………… your last holiday?
A-enjoy		B-to enjoy	C-enjoying	D-enjoyed
3-Have you ever ………… to Japan?
A-be	B-was	C-were	   D-been
4-………… your wife at home today?
A-Is	B-Do	c-Does	D-Are
5-I work for a big ice-cream …………….
A-tired		B-children	C-underground		D-company
6- Do you have the …………. to use your time productively and efficiently?
A-flat		B-ability	C-free		D-snack
7- Do you think they can understand the …………….. between urgent and important?
A- difference	B-heat		C-similar	D-helpful
8-We want to buy a …………. house.
A-cheaper	B-more cheap	C-much cheap	D-the most cheap
9-It’s generally hot in August in Turkey. You should take ………….. clothes with you when you go there.
A-warm	B-light		C-heavy	D-cold
10-The drink Coca-Cola ………….. in 1886 by an Atlanta pharmacist, John S. Pemberton, at his Pemberton Chemical Company.
A-originated	    B-hade been originated	C-was originated	D-has been originated
11-Corn …………. a starchy vegetable and cereal grain.
A-is	B-are	C-did	D-were
12- The building ………….. between 2011 and 2015 by Renzo Piano as part of the City Gate Project.
A-constructed		B-was constructed	C-had constructed	D-has constructed

13-For centuries bread …………. a prominent food in large parts of the world.
A-has	B-will be  C-had   D-has been
14-You musn’t drive …………. than 50 km here.
A-fast		B-faster		C-more fast	D-fastest
15-I’m not sure, …………. he could be at home.
A-and		B-so		C-because	D-but
16-We …………. to live in a town near London when I was a kid.
A-want		B-used to	C-did		D-would like
17-I was late to work this morning …………… I couldn’t get up early.
A-and		B-so		C-because	D-but
18-Economists predict that the inflation …………… down rapidly in the near future.
A-go		B-went		C-was go	D-will go
19-…………… all unsuccessful negotiations, most people believe that thereis still hope for peace in the area.
A-For		B-Despite	C-Due to	D-Although
20-Nowadays, an increasing number of people ………….. addicted to antidepressant drugs.
A-become	B-are becoming		C-became	D-had become
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21-
[bookmark: _GoBack]A-friend   B-company   C-large   D-office
22-
A-large   B-economics   C-married   D-office
23-
A-office   B-company   C-married   D-large
24-
A-company   B-friend   C-economics   D-company
25-
A-company   B-office   C-friend   D-economics













26-It is a good idea to list your tasks in order of importance, ……………. giving them an absolute ‘important/not important’ distinction.
A-as well 	B-rather than		C-even if	D-much as
27-Some people seem to have enough time to do everything that they want to, ……………. others are always rushing from task to task.
A-whereas	B-instead of	C-as	D-since
28-Important tasks matter, and not doing them may have serious ……………….. for you or others.
A-welfare	B-treatments	C-satisfaction	D-consequences
29-This …………… between urgent and important is the key to prioritising your time and your workload, whether at work, at home or when studying.
A-innovation	B-disappointment	C-curiosity	D-distinction
30 ………… the buildings on the west side had been well-constructed they were unaffected by the earthquake.
A-Although	B-While	C-Since		D-Just as
31-His paper aroused considerable interest …………. it was obviously very limited in scope.
A-since		B-even though		C-owing to	D-in spite of
32-When rainfall occurs regularly, the moisture of surface soil is maintained in a …………….. condition.
A-constant	B-straightforward	C-fuzzy		D-skeptical
33-The Hundred Years' War was an intermittent ………….. between England and France which ran on for 116 years.
A-debit		B-flawsome	C-obsolete	D-conflict
34-Although sanitation has ………….. in the country recently infectious disease is continuing to kill a number of people.
A-improved	B-deteriorated	C-underestimated  D-procrastinated





35-The month of March celebrates the contributions women have made throughout history in science, politics, law, sports, the arts, entertainment, and many other fields. While figures such as Elizabeth Cady Stanton, Harriet Tubman, Amelia Earhart, Eleanor Roosevelt, Margaret Thatcher, Rosie the Riveter and Betty Friedan are often associated with Women's History Month, ..…….................. Consider inventor/actress Hedy Lamarr, scientist Dian Fossey and mathematician Katherine Johnson, astronauts Sally Ride and Mae C. Jemison, authors Maya Angelou and Amy Tan, and contemporary directors Kathryn Bigelow and Ava Duvernay.

A-on several fields women are more capable than men.
B-March also celebrates the Doctor’s Day.
C-other historical events occured in March.
D-there are countless extraordinary women who have earned their place at the table.

Another natural method to ….36…. grass is solarization: killing grass and weeds by utilizing the heat of the sun to bake the soil to a high temperature. Start by mowing the grass in the planting area as short as possible. Then, hose down the area to dampen it …37…. Next, cover the area with a clear plastic tarp that's been cut to the desired size of your new garden space. Weigh down the edges of the plastic (with bricks, for example) to keep it in place. With a moderate amount of sun exposure, the ground beneath the plastic can heat to around 140 degrees Fahrenheit. This will …38… living grass, weeds, and seeds, and kill soil bacteria. Within approximately four weeks, the grass should be dead and beginning to break down. You can then dig the dead grass into the soil, adding compost or other soil …39… if you wish, and plant your garden bed. 
36-
A-remove   B-stick   C-grate   D-procrastinate   
37-
A-initially   B-thoroughly   C-merely   D-frankly
38-
A-scorch   B-doom   C-incline   D-interpret
39-
A-lodges   B-tantrums   C-guts   D-amendments


Agamemnon was the king of Mycenae and leader of the Greek army in the Trojan War of Homer's Illiad. He is presented as a great warrior but selfish ruler, famously upsetting his invincible champion Achilles and so prolonging the war and suffering of his men. A hero from Greek mythology, there are no historical records of a Mycenaean king of that name, but the city was a prosperous one in the Bronze Age, and there perhaps was a real, albeit much shorter, Greek-led attack on Troy. Both these propositions are supported by archaeological evidence. Unfortunately, though, the famous gold mask found in a shaft grave at Mycenae and widely known as the 'Mask of Agamemnon' is dated as up to 400 years before any possible Agamemnon candidate that fits a chronology of the Trojan War. Agamemnon was the son of Atreus, or perhaps grandson, in which case his father was Pleisthenes. His mother was Aerope, from Crete which provided a handy link between the Mycenaean civilization of the Greek Peloponnese and the earlier Minoan civilization of Bronze Age Crete. He was married to Clytemnestra with whom he had three daughters. In one version these are Chrysothemis, Laodice and Iphianassa while in other, later versions they are Chrysothemis, Electra and Iphigeneia. Agamemnon was the brother of Menelaos, king of Sparta.

40-According to the passage Agamemnon ………………………………….
A-is solely known with the mask found in a grave at Mycenae. 
B-and his invincible champion Achilles prolonged the Trojan War
C-is a controversial name which can not be found as a king at any historical records
D-was the king who created the most prosperous city of that time. 

